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9 Oooooono

Pascal 000000000000 DODOOOODOOOOODOOOOOO

9.1 SankakuhiNoHyou2.dpr 00O OOOOOOO0O

O00000OPascal OOODO Sin 000 CosOOODODOOOOODOD TanDODODOOOOO
O00Sin, Cos D00 O0OODDODMUOOODOOoOOoDoooonDo

OO0 TanOOOOOOOOOOO SinDoO OO CosDo0 OO TanDo OO OOOOOOOODO
obooooooboooon

program SankakuhiNoHyou2; // 00000000
{$APPTYPE CONSOLE}
uses

SysUtils;

function Tan(T : Real) : Real;
{ tan0 }
begin
Tan := Sin(T)/Cos(T);
end; {Tan}

function SinDo(A : Real) : Real;
{ sina O}
begin
SinDo := Sin(A/180%Pi);
end; {SinDo}

function CosDo(A : Real) : Real;
{ cosal}
begin
CosDo := Cos(A/180%Pi);
end; {CosDo}

function TanDo(A : Real) : Real;
{ tana O}
begin
TanDo := Tan(A/180%Pi);
end; {TanDo}

var
Alphal : Integer; // 0 O 44
Alpha2 : Integer; // 45 O 89

begin

Write(’ a ’:7, ’’:2, ’sina ’:8, ’cosd ’:8, ’tand ’:8);

Write(’ a ’:7, ’’:2, ’sina ’:8, ’cosd ’:8, ’tana ’:8);

Writeln;

Writeln;

Alphal := 0;

repeat
Alpha2 := Alphal+4b;
Write(Alphal:7, ’> 0O’, SinDo(Alphal):8:4, CosDo(Alphal):8:4, TanDo(Alphal):8:4);
Write(Alpha2:7, ’> 0’, SinDo(Alpha2):8:4, CosDo(Alpha2):8:4, TanDo(Alpha2):8:4);
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Writeln;
if Alphal mod 5 = 4
then Writeln;
Alphal := Alphal+i;
until Alphal > 44;

Write(’ a ’:7, ’’:2, ’sina ’:8, ’cosd ’:8,
Write(’ a ’:7, ’’:2, ’sina ’:8, ’cosda ’:8,
Writeln;
Readln;

end.

9.2 Sankakukeil.dpr0 00000000 OOOOOODO

9.21 000

gobooooobooooooon

CA [cm] 7 17.32
AB [cm] 7 14.14
A [O]1 775

R |

A O 75.00 [O]
B O 60.00 [O]
c O 45.00 [O]
BCO 19.32 [cm]
CAO 17.32 [cm]
ABO 14.14 [cm]

Oooooodg

Push Enter Key

9.2.2 00O

tan O ’:8);
tana ’:8);

32

000 ABCOOODOOOObL=CAOc=ABOA=/ZAODOOOOOOOOOOOOODOOO

0000000 A,B,C00 a,b,c0000000
00 9.1 (0000)

a® =b% 4+ — 2bccos A
La= \/b2 +c2 — 2bccos A
A +a%-b?

2ca

2 2 12
. B = cosl <C+ab)
2ca

cos B =

C=180°-A-B

gbobooooboooboobobobobooboooooboobOoboboboboOooboooboon
cos"(000D000D0)0000D00D00DO0DOPascal 000000000000000OOO0O
tan~! O000D0 ArcTan 00 0000000000000 O0O0O0O0OOO0OODOArcCos 000

gboooog
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ud 91 040good

| W =1
=cos™Y(z) & cosO=x OO 0SS0
1L pdx,y)
: /a"‘g D f=sin"'(y) < sinf=y OO —%é@é%
QJA(‘I,O)
m m
=tan"'(m) & tanf=m OO f?<9<?

o0 eoD0000000oOoooooooo

sin 6 Yy V1— 22
m=tanf = = =——
cosf x x
tan=!(m) (x>0000)
. cos (z) = % (x=0000)

tan~!(m)+7 (x<0000)

function ArcCos(X : Real) : Real; 00000091 0000000 1000000000
if 0000000000 T0e 0000000 DOOO00O00000ODO0O0OO ArcCcos OO
gooo

ArcCos UOO00ODOO0O0ODOOOOODOOODOOOOOODOODOOODOONO ArcCosDo0OOO
goo

9.23 0O0O0O0OO

program Sankakukeil; // O00OOOOO0OO
{$AppType Console}
uses

SysUtils;

function ArcCos(X : Real) : Real;
{ ArcCos := (cos 0 =0 & 0006 0m OOOO6 }
{0000000O }
{-10001 00000000004 }
var

Y : Real; // sin®

M : Real; // tan®

T : Real; // ©

begin
ifX=0

then begin

T := Pi/2;
end

else begin
Y := Sqrt(1-Sqr(X));
M := Y/X;
T := ArcTan(M); // Om/206 01 /2

if X <O
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then T := T+Pi;
end;
ArcCos := T;
end; {ArcCos}

function ArcCosDo(X : Real) : Real;
{ ArcCosDo := (cosa O=0 & 00a 0 180 ODOOOa %}
{-10001 0000000000 }
begin
ArcCosDo := ArcCos(X)/Pi*180;
end; {ArcCosDo}

function CosDo(A : Real) : Real;
{ cosal}
begin
CosDo := Cos(A/180*Pi);
end; {CosDo}

var
KakuA ,KakuB,KakuC : Real; // O
HenBC,HenCA,HenAB : Real; // O
BC2Jou : Real; // BC"2 OO
CosB : Real; // cosO OO

begin {Main}
Writeln(’ OO0 O00O0OO0OOOODO?);
Writeln;
Write(’ O CA [cm] 7 ’);
ReadLn (HenCA) ;
Write(’ O AB [cm] ? ’);
ReadLn (HenAB) ;
Write(C O A [O1 ? ?);
ReadLn (Kakul) ;
Writeln;
BC2Jou := Sqr(HenCA)+Sqr (HenAB)-2*HenCA*HenAB*CosDo (Kakul) ;
HenBC := Sqrt(BC2Jou) ;
CosB := (Sqr(HenAB)+Sqr (HenBC)-Sqr (HenCA) )/ (2*HenAB*HenBC) ;
KakuB := ArcCosDo(CosB);
KakuC := 180-KakuA-KakuB;
Writeln(’ 0 A O, KakuA:6:2, *> [O]°);
Writeln(’ 0 B 0O°’, KakuB:6:2, ’> [O]1%);
WriteLn(’ 0 C O, KakuC:6:2, *> [0]°’);
Writeln(’ O BCO’, HenBC:6:2, ’ [cm]’);
WriteLn(’ 0 CAO’, HenCA:6:2, ’ [cm]’);
WriteLn(’ 00 AB[°’, HenAB:6:2, > [cm]’);
Writeln;
Write(’Push Enter Key ’);
Readln;

end.
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9.3 KyokuKeishiki.dpr OO 0O 00O

000 z=z+4+yi 0 r(cosf+ising) 000000000000 O0O0O0O00000 »r00
0000000 2z,yO0O0DODODOOODOO

r= '/1‘2+y2
™
= (rt=000y20000)
_g, (xr=000y<0000)

(x>0000)

(xr<00D0y>0000)

-+

&

B

L
A/~ /N /
e 8| 8
S— ~——

_|_

3

tan -7 (r<000y<0000)

0 9.1

oooo 000

5+ 5i = 5v/2(cos45° + isin45°)

—4v/3+4i = 8(cos150° + isin 150°)

—2—-2v3i = 4(cos(—120°) + isin(—120°))

—3i = 3(cos(—90°) + isin(—90°))

3—4i = 5(cos(—53.1°) + isin(—53.1°))
9.3.1 000

uob 0oooo oooooooooo

000 [coODOOOOOOOOO] 75865
5.000 5.0000 7.07(cos 45.0000 sin 45.00)

000 [ooODOOOOOOOOO] 7 -6.93 4
-6.930 4.0000 8.00(cos 1560.0 000 sin 150.00)

000 [ocoOOOODOOOOOO] 7 -2 -3.46
-2.000-3.46 00 4.00(cos -120.00 00 sin -120.00)

000 [coOOOOOOOOOO] 70 -3
0.000-3.0000 3.00(cos -90.0000 sin -90.00)

000 [coOOOOOOOOOO] 73 -4
3.000-4.0000 5.00(cos -563.1 000 sin -53.10)

000 [coOOOOOOOOOO]l?oO00O

9.3.2 00

ooo0oDO0O0000o00ODb0000D0Db00000DbO00000 Zettaichi(X,Y : Real) : Real
O0O0OO0OOCOOOOO0OO0OO000DO HenkakuDo(X,Y : Real) : Real UOOOOOOOOODO
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program KyokuKeishiki; // 00000000

{$APPTYPE CONSOLE}

uses SysUtils;

function HenkakuDo(X,Y : Real) : Real;
{0000 ODOodenoOoOOO ¥

var

begin

end; {HenkakuDo}
function Zettaichi(X,Y : Real) : Real;
{0000 oOoooo 3}
begin

end; {Zettaichi}

var

begin

end.



